Which customary unit is appropriate?

Choose a better estimate for the weight of an adult.
D 20 pounds 20 tons
Choose a better estimate for the volume of a teaspoon
0.005 cups D 0.005 quar
Choose a better estimate for the length of a'shoe lace
27 feet 27linche
Choose a better estimate for the weight of a magazin
D 8ounces | J8pounds | | | | | |
Choose a better estimate for the amount of a gallon of whole white milk
D9 ound 9 ounces
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Which customary unit is appropriate?

ose a better estimate for the weight of an adult.

20 pounds DZO tons

pounds is a better estimate, 20 tons is too big.

ose a better estimate for the volume of a teaspoon

0.005 cups MO. O5 quarts

0.005 \quarts is the better estimate, 0.005 cupslis too

Q'

ose a better estimate for the length of a shoe lace.

27|feet M27in he

inches| is a better estima, 27 feet is too long

ose a better estimate for the weight of a magazine.

M8 unces DS ounds

8 ounce is the better estimate, 8 pounds is too big

ose a better estimate for the amount of a gallon of whole white milk

9 pounds D9 unces

oundsis the better estimate, 9 ounces is too/small.
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